4.1  Marginal Utility.   Complete the following table, which describes the de4.1   Complete the following table, which describes the demand for goods:
	     Price
	Units
	Total Utility
	Marginal             Price/Marginal Utility                        Utility

	$11
	o
	0
	
                                                               
 


	10
	1
	25
	

	9
	2
	45
	

	8
	3
	60
	

	7
	4
	70
	

	6
	5
	75
	


B.
How does an increase in consumption affect marginal utility and the price/marginal utility
ratio?
C.
What is the optimal level of goods consumption if the marginal utility derived from the
consumption of services costs .50 per util?

4.3 Optimal Consumption.     Alex P. Keaton is an ardent baseball fan. The following table shows
the relation between the number of games he attends per month and the total utility he derives from baseball game consumption:
Number of Baseball Games per Month


Total Utility
	0

	1

	2

	3

	4

	5

	0

	50

	90

	120

	140

	150


A.
Construct a table showing Keaton's marginal utility derived from baseball game con​sumption.

B.
At an average ticket price of $10, Keaton is able to justify attending only one game per month.



Calculate his cost per unit of marginal utility derived from baseball game con​sumption at this



 activity level.
C. If the cost/marginal utility trade-off found in part B represents the most Keaton is will​ing to


pay for 
baseball game consumption, calculate the prices at which he would attend two, three, four, and five games per month.
D..
Plot Keaton's baseball game demand curve.

4.5 Demand Curves.  KRMY-TV is contemplating a T-shirt advertising promotion. Monthly sales data from T-shirt shops marketing the "Eye Watch KRMY-TV" design indicate that







Q = 1,500 – 200P

where Q is T-shirt sales and P is price.
A. How many T-shirts could KRMY-TV sell at $4.50 each?
B. What price would KRMY-TV have to charge to sell 900 T-shirts?
C.
At what price would T-shirt sales equal zero?
D.
How many T-shirts could be given away?
E. Calculate the point price elasticity of demand at a price of $5.
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4.8 Income Elasticity.  Ironside Industries, Inc. is a leading manufacturer of tufted carpeting under the Ironside brand. Demand for Ironside's products is closely tied to the overall pace of building and remodeling activity and, therefore, is highly sensitive to changes in national income. The carpet manufacturing industry is highly competitive, so Ironside's demand is also very price-sensitive.

During the past year, Ironside sold 15 million square yards (units) of carpeting at an average wholesale price of $7.75 per unit. This year, disposable income per capita is expected to surge from $25,760 to $28,000 in a booming economic recovery. Without any price change, Ironside's marketing director expects current-year sales to rise to 25 million units.
A..  Calculate the implied income arc elasticity of demand.
B..  Given the projected rise in income, the marketing director believes that current volume of 15
million units could be maintained despite an increase in price of .50 per unit. On this basis,
calculate the implied arc price elasticity of demand.
C..  Holding all else equal, would a further increase in price result in higher or lower total revenue?
